MName: Date:

Uze the following to answer question 1:

lable: GDF

Year 2011 (in billionz of dollars)
Comammpren gpanding Yo}
Benldd inwome 10
lite rest a5
Prafit 0
Trrecstment. 2pend imp I5
Wages 24
Guoveriunznl purelisay 18
lmpartz d
Fxpartz 3

1. (Table: GDP) GDF in the table is:
Al 394 billion.
B) $18&8 hbillion.
) $168 billion.
I $139 hillion.

Uze the following to answer questions 2—4.

Table: The Consurner Price Index

Year Consumer Price Index
l 80
2 {base vear) LO0
3 105
4 125
5 150

2. [Table: The Consurner Price Index) The approximate rate of inflation
in year 2 is.

A 10%.

B} 19%.

) 20%.

L 25%.



3. (Table: The Consumer Price Index) The approximate rate of inflation
in wear b iz

A) 5%,

Bl 10%.
Cl 19%.
DN 20%.

4, (Table: The Consumer Price Index) The approximate rate of inflation
in wear 3 iz

Al 5%,

Bl 10%.
C) 19%.
D 20%.

Jze the following to answer question 5!

‘Lable: C1'1

2E 2012
Product Cnantiry Price {Jnantity Frice
Bread 2,000 5100 1,200 150
Laptapsz L0t 2000 ) 130 1,200 0
Movies 50 5.0 4l 700

5. [(Table: CPI) Suppose only three goods are produced in this econongy
bread, laptops, and movies, Calculate the CFL of 2012, using 2008 as

the baze wvear.

A) 819
B} 100
2 958
Dl 95
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Jze the following to answer question 6.

Talle: Calenlating CGDP

Renl §2,400
Cemammprion Apending FRLNY|
Socdal Secutly benelil 6,100
Imeestment zpendimg 2,100
Wages and malaries f,A00
L pouts s
Inrerest 1,200
Groveimunent prchases of poods and serviesz 2600
Profit= 1,400
Impouts 1,200
Purctisse of stovks &, 300
Lnemplaogment compenzation 3050
Piyroll luxes 2065
Halos faxer 1,300

G. (Table: Caleulating GDF) Using the information in the table provided,
which of the following 1s the correct caloulation for GDE?
Al $47.475
Bl $12200
Tl $21.,485
D) $34,085



Mame: Date:

1. Households derive income from all of the following except:
Al wages or labor income.
Bl interest from lending.
) rent from allowing firms to use their land.
L) imports.

TIze the following to answer questions Z2-6:

Figure: Circular—Flow Model

Wages, Wages,
dividends, interest,

dividends, interast,
rent = $500 - rent = $500
Factor
mar<ets
Households | Consumer
spending
= 3400

Goods and
seraces
marets

Taxes
= $100

Government

2. [Figure' Circular-Flow Model) What is GDFP in this economy?

Impaorts
=530

Government

purchases of Exports

goods and = 330
Services

= §100

Al $100
B) $400
C)  $500
D) $600

3. (Figure: Circular-Flow Model) If the circular-flow model is in
equilibrium (the sum of money flowing into each box is equal to the
surn of the money flowing out of that box), which of the following is
likely to happen if there i an increase in consumer spending”?

A) an increase in the nominal GDF
B) a decrease in the nominal GDP
)] an increase in the unemplovment rate
D) a decrease in the inflation rate
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. (Figure: Circular-Flow Model) If the circular-flow model is in
equilibrium (the sum of monev flowing into each box iz equal 1o the
sum of the money flowing out of that box), which of the following is
likely to happen if there is an increase in government spending’?

A) an increase in the nominal GDP

B) a decrease inthe real GDP

)  an increase in the unemplovment rate

Y a decrease in the inflation rate

. (Figure: Circular-Flow Model) How does the government finance its
purchases of goods and services?

A) by printing money

Bl by taxes

1 by borrowing

D by taxes and borrowing

. (Figure: Circular-Flow Model) What are net exports in this econongy ?

Al $0
B) $30
1 $60
D) $100

. Goods that are produced domestically but sold abroad are:
&) imports.

B) exports.

1 part of domestic consurmnption.

D) investment.

. An example of a government transfer iz aln):
A)  expenditure on an interstate highway.

B) bequest from a deceased relative.

¢l Social Security payment.

D =alary for a member of the armed forces.

. Investment spending is:

A)  spending on productive physical capital.

B) szpending on bonds.

) zpending on shares of stock.

D spending on productive physical capital, on bonds, and on shares
of stock,
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1L,

i

13,

14,

L5

FPurchases of foreign—-produced goods and services are:
A) net exports.

Bl exports.

Cl  imports.

L) transfer pavments.

Iventory investment is counted as investment because:
Al Inventory is used for future production.

Bl inventory is a source of future sales.

) inventory has no opportunity cost.

D inventory is tax deductible.

A laptop computer that is purchased by an accounting firm is
considered to be:

A) consumption spending.

B) investment spending.

C)  private saving.

D) a pretax dividend.

Households receive income in the form of all of the following
EXCEET:

Al wages,

B) dividends.

) interest and rent.

[ investment spending.

The GDF deflator is:

A)  a price index.

Bl equal to 100 in the base year.

) the ratio of real GDF for vear X divided by nominal GDF for vear
X7 100,

[ a measure that tracks price changes for consumer goods.

Eeal per capita GDP is:

Al real GDP divided by the population.

B) real GDP divided by the amount of capital available in the
eCOnoy.

C) not a good useful measure of human welfare,

D) rarely used as a tool to compare countries' possible resources.
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. An increase in the amount of physical capital per worker _________,

while technological progress

A) malkes the aggregate production function steeper; changes the
slope of the agegregate production funstion

Bl makes the aggregate production function steeper: makes the
aggregate production function flatter

) moves the economy along the ageregate production function:
shifts up the aggregate production function

T shifts up the aggregate production function; moves the economy
along the aggregate production function

. which of the following accurately describes what is happening along a

tvplcal aggregate production function?

Al At some point, increasing the amount of physical capital per
worker will reduce productivity.

Bl Increases in physical capital per worker will always bring about an
increase in productivity that is worth the cost of the additional
physical capital.

2] Dhe to diminishing returns, increasing the amount of physical
capital per worker will eventually bring smaller and smaller
Increases in productivity.

D) Adding workers results in real GDP per worker rising at an
Increasing rate throughout the function.

. The ageregate production function does NOT depend on which of the

following?

A) the quantity of physical capital per worker
Bl human capital per worker

] the state of technology

D) the amount of natural resources

The sources of funds for investment spending are:

Al savings by households, government, and foreigners.

Bl taxes and transfer payments.

1 alwayvs equalto US. spending on imports.

T directed to their most productive uses by the 1.5, government.

. Technological progress is advanced through!

A) research and development.
Bl government regulation.

) consumption.

I infrastructure,
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. Long-run economic growth is

Al higher in countries with a weak rule of law and excessive
covvernment intervention.

B) lower in countries with a strong government and independent
udiciary.

) lower in countries whose courts enforce property rights and
whose government protects its citizens,

[ higher in countries with a strong rule of law and political stability.

A countrv's growth rate depends veryv highly on how it has invested in

ite physical capital, Generally, countries that have:

Al used foreign direct investment as a source of their capital have
ex hibited the highest growth rate.

Bl uszed domestic saving as a source of their investment on physical
capital have exhibited the highest growth rate.

1 used foreign portfolio investment as a source of their capital have
ex hibited the highest crowth rate.

D used contracted globalization as a source of their capital have
ex hibited the highest growth rate.

. When the government invests resources in a nation's educational
svetem, the government is said to be investing in

A)  private property.

B) human capital.

1 political stability.

I infrastructure,

. The East Asian countries have exhibited tremendous economic growth

during the last 40 yvears because of all of the following BEXCERT:

Al a significant increase in physical capital per worker made possible
kv wvery high rate of saving,

Bl a significant increase in human capital made possible by very good
basic education.

) a substantial achievement in technological progress.

D intervening governments with lots of regulations.

. Beonomic growth will likely invvolve:
A)  a reduction in investment.

Bl a decrease in the capital stock.
) higher saving.

D) lower saving.
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Jze the following to answer questions 11-12:

Figure: Technological Progress and Productivity Growth

Real GDF
per worker
{constant dollars) Producvity
f1z0.000 using 2010
technolo gy
ALY
] Productivity
GR gD uging 1940
tachnalegy
At
[ [

u WL S0 40 A0 ED F0#0 L0 ol
Physical capital per worker
{2000 dollars)

11. (Figure: Technological Progress and Productivity Growth) If there iz a
significant increase in human capital per worker (all other factors
remaining unchanged), it would be best indicated by a move from:

Al Ato B
Bl Bto A
) Cto B
D) Bto C

12, (Figure: Technological Progress and Productreity Growth) If there is
an increase in physical capital per worker (all cther factors remaining
unchanged), it would be best indicated by a move from:

Al Ato B
Bl Fto A
Cl Cto B
Il Bto C

13, Economies with higher growth rates tend to be those that increase
their:
Al government regulation.
B) human capital.
C1  consumption.
D) resources.
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15,

16,

177,

18,

19,

Which of the following institutions is important in channeling savings
into investment?

A) schools

B) religious institutions

) banks

T the federal government

Among the factors that are important for economic growth are:
A)  property rights,

B) growth accounting.

) natural resources.

Dl convergence.

Ireland's recent economic growth and improving living standard are

due primarily to!

A) Its refusal to join the Buropean Union and abandon its own
currency for the euro,

Bl the capture and imprisonment of Sinn Fein leader Gerry Adams.

) the large number of immigrants to the nation from Eastern Europe.

D) an excellent phyvsical and human infrastructure, including a good
education system, airports, tele communications, and shipping
facilities,

Which of the following ig an important measure of economic growth
over time?

Al inflation

B] increases in real per capita GDP

] decline in real interest rates

I increases in the available labor supply

The standard of living in a country can be best measured by
A) nominal GDP per capita.

B) real GDF per capita.

21 the productivity growth rate.

T the business cvcoles,

Suppose a panel of economists predicts that a nation's real GDF per
capita will double in approximately 20 vears. Based upon the rule of
70, what must be the predicted annual growth rate of real GDF per

capita?

A 140%
Bl 85%
) 2.85%
D) 14%
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A

aa.

a3,

ad,

a5,

Suppose a panel of economists predicts that a nation's real GDF per
capita will have an average annual growth rate of 2%, Based upon the
rule of 70, how many vears will it take for this nation's real GDF per
capita to double”

A) 35
B) 70
) 140
D) 20

The rule of 70 indicates that a 6% annual increase in the potential
lewvel of real GDP would lead to the potential output doubling in

VEears.
Al B

E) 12
Cl 24
Dl 30

FProductivity declines when!

A) the number of hours worked exceeds the number of workers,
Bl population growth exceeds real GDP growth.

) the ratio of adult civilians emploved outside the home rizes.
D real GDF growth exceeds the population growth.

i_rver the course of the twentieth century, the real GDF per capita in
the United States rose mostly as a result of;

A) rising population.

B) rising employment.

C)  rising productivity.

D) reduced vacation time.

The term Auman capifal describes!

Al improvement made possible by better machines and the equipment
available.

Bl improvement in the technology available to the work force.

) improvement in a worker's skills made possible by education,
training and knowledee.

D) improvement in the robotics technology that can substitute for a
human worker,

Which of the following will HWOT increase the productivity of labor?
Al technological improvements

Bl an increase in the capital stock

Cl  improvements in education

D) an increase in the size of the labor force
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&b,

e

&8,

&9,

30,

R

Fising high school graduation rates are an example of an increase i
Al technological progress.

B) hurman capital.

C1  population stock.

L) fertility rates.

Fhws=ical capital includes:

Al the education or knowledge a worker has in hiz or her physical
being.

B) the tools a worker has to work with.

C)  the money available for the worker to use.

) shares of stock.

To acquire human capital a person would:

Al =ave to buy a printing press.

B) purchase a printing press rather than use his or her money on
Consumpticon.

1 learn to use a printing press.

I zell the books that the printing press produces.

Diminishing returns to physical capital means that as more and more
physical capital is combined with a fived amount of human capital and
a fixed technology, eventually:

A) aggregate output or real GDF declines.

Bl aggregate output or real GDF grows.

1 additions to ageregate output or real GDP decline.

DM additions to aggregate output or real GDP increase.

Growth accounting estimates the:

Al increase in the population rate over time.

B) increase in the inflation rate over time.

C)  contribution of each major factor in the aggregate production
function to economic growth.

D) contribution of the technology factor in the agegregate production
function to economic growth,

Matural resources are:

Al more important determinants of productivity today than ever
before,

Bl the reason behind the fast development of countries like Japan.

)] the reaszon behind the slow development of countries like Nigeria.

D) less reliable indicators of productivity today than they were a
century ago,
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. Employment is:

A) the total labor force.

B) the total population of working age.

C) the total number of people actively working.
D) the total number of people not unemployved.

. The labor force is:

A) the total of people emploved.

B) the total population.

C) the total of the population of working age.

D) the total of people emploved and unemployed.

. The unemployment rate is:

A) the percent of the labor force that is unemployved.

B) the number of people unemployed.

C) the ratio of the labor force to the number of people unemployved.
D) the average length of time someone is unemployed.

If a country has a working—-age population of 200 million, 135 million
people with jobs, and 15 million people unemploved and seeking
employment, then its unemployment rate is:

A) 4%.

B 7.5%.
Q) 10%.
D) 67.5%.

. If a country has a working—age population of 200 million, 135 million

people with jobs, and 15 million people unemployved and seeking
employment, then its labor force is!

A) 335 million.

B) 200 million.

C) 155 million.

D) 150 million.

. The labor force is equal to the:

A) sum of employment and unemployment.

B) population minus the number of employed.

C)  sum of the employed and the underemployved.
D) number of people working in the economy.
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10.

Lk,

12.

. You are a college student and not working or looking for work. You

are:

A) unemployed.

B) in the labor force but not employed.
C)  not part of the labor force.

D) not described by any of the above.

A person who has no job but is looking for one is:
A) unemployed.

B) a discouraged worker.

C) part of the labor force.

D) unemployed and part of the labor force.

Suppose there are 70 million people in the labor force, of whom 60
million are employved. The unemployment rate is:

A) 7%.

B) 10%.

C) 14.28%.

D) impossible to calculate.

Which one of the following calculations is correct?

A) Unemployment rate = unemployved / employed ? 100,
B) Unemployment rate = unemployed / population ? 100.
C) Unemployment rate = employed / labor force ? 100,
D) TUnemployment rate = unemployed / labor force ? 00,

In2011, 10 million people did not have a job but were actively looking
for employment and 85 million people had either a full-time or a part-

time job. Based on this information, the unemployment rate in 2011
Was:

A) 10%.
B) 9.5%.
C) 105%.
D) 8.5%.

The country of Livonia has an adult population of 100 million: 60% of
Livonia's population is employed, but 10% of the people are
unemployved. The labor force participation rate in Livonia is:
A) 70%.

B) 60%.
Q) 7%.
D) 10%.
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13, If the labor force totals 100 million workers and 90 million are actively
working, then the unemployment rate is:
Al 1%.
B) 5%.
C) 10%.
D) 90%.

Use the following to answer questions 14-15:

Table: T.abor Foree Distribution

kmpleved adults 200 million
Labar torce 208 million
Unemploved adults 8 millicn
Adulls nal in ldkor lotce 30 pullicn

Mon-adulls {under 1487 population 40 million

14, (Table: Labor Force Distribution) Based on the accompanying table,
the unemployment rate is:
A) 3.85%.
B) 10%.
C) 4.55%.
D) 6.75%.

15. (Table: Labor Force Distribution) Based on the accompanying table,
the total population is:
A) 486 million.
B) 253 million.
C) 278 million.
D) 283 million.
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ze

the following to answer questions 1-3;

Figure: The Effect of a Minimum Wage

YWage
ratc

Wi

\ Labor susply

_ i . " Labor demand
Qn Qe Q= Quantity of labor

1. (Figure: The Effect of a Minimum Wage) Suppose the labor market is
in equilibrium at &when the government imposes a minimum wage of
W= One problem that may arise is that the quantity of labor supplied

would ______, resulting in structural unemployviment.
Al decreasze to 45

B) stay at &=

1 increase to 4=

D stay at Fs

2. [Figure: The Effect of a Minimum Wage) Suppose the labor market is

in equilibrium at Ewhen the government imposes a minimum wage of
W= Structural unemplovment will equal:

Al =7 0n
Bl &=7 b
Cl e ? &=
D) zero.

3. (Figure: The Effect of a Minimum Wage) Suppose that after some time

with a minimum wage of s the government abolishe s the minimum
wage, Emplovment would:

A) decrease to 9=

B) increase to 4=

C) stay at &=

L)  be impossible to determine.
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. A minimum wage of $7.25 per hour might cause structural
unermnplovment if the equilibrium wage in that labor market is

A) $7.25,
Bl $8.00.
C) $6.85.
D) $7.30.

. When the demand for labor 1s falling and emplovers have committed to

hich wages, ______ unemployvment will result.
A) frictional

Bl cyclical

C)  permanent

D) structural

. Cwelical unemplovment:

Al rizes during a recession.

Bl falls during a recessicon.

C) rises during an expansion.

D) iz a part of natural unemployment.

. Btructural unemplovment can be caused by all of the following
EXCEPT:

A) minimum wages.

Bl labor unions.

Cl  efficiency wages.

D) fluctuations in the business cycle.

. Last month Brent lost his job at the auto parts factory because his
facrtory, like many others, relocated to Asia. Brent has been looking
for similar factory jobs in his town but has found no openings, Brent is
best classified as!

Al structurally unemploved.

B) frictionally unemploved.

C) a discouraged worker.

Il out of the labor force.

oA binding minimum wage in a labor market is set the equilibrium
wage and createsa _____ of labor.

A) below. surplus

Bl below: shortage

1 above, surplus

L) above: shortage



Uze the following to answer questions 10-14:

Figure: The Minirmurmn Wage

Wage

P

10,

L1.

1z,

04 Ok Oy 0y CQuantity of labor

(Figure: The Minimum Wage) Look at the accompanyving fisure on the
labor market. By how much does the quantity of labor supplied rise
when the covernment imposes a binding minimum wage of F:7?

Al L4
Bl L7k
Cl Lk 7 LA
D) L7k

(Figure: The Minimum Wage) Lock at the accompanying figure on the
labor market. Which of the following is a binding minimum wage?

A) A,

B F.
@ g
D)

aero,

(Figure: The Minimum Wage) Lock at the accompanyving figure on the
labor market. What iz the quantity of labor supplied at a binding
minimum wage of F7

Al

PHHH

Bl
8]
D)



13. (Figure: The Minimum Wage) Look at the accompanyving figure on the
labor market. What iz the quantity of labor demanded at a hinding

minimum wage of F7
Al

HHHO

Bl
Cl
D)

14, (Figure: The Minimum Wage) Look at the accompanyving figure on the
labor market, The binding minitmum wage of s leads to unemployment
of;

Al £k 7
Bl £k 7 &k
) Ll
D) gL ? &k



